Sec 4.4.4

Applications
Medical research indicates that the : X
risk of having a car accident .
increases exponentially as the == e

concentration of alcohol in the

b The risk is modeled |2 WX
bYR = 6e!277% )

whefe X is the blood alcohol /] (Q
concentration and R, glven as a

percent, is the risk of having a car
accident. What BAC corresponds to ,2 7])(

a 17% risk of a car accident? Z g3 e
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lengwllttk e $25,000 to grow
o $500,000 at 9% annual interest
compounded mo nthly
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divide b th ides
by these to isolate
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The percentage of adult
height attained by a boy who

is X years old is modeled by | N
f(x) = 29 + 48.8 log (x+1) 85 =29+483 |Oj(’(+\/
where x represents the boy's
age (5-15) and f[x) represents

the percentage of adult _ 8 l ( N
height. At wﬁat age, rounded 5(0 - 4_ : 8 Oj )(‘|'L
to the nearest year, has a

boy attained 85% of his 7 _ I ( )
adult height? - \ ]4 — Oj x —lﬂl
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Suggested Practice
Sec 4.4, pgs 490-491
s A ‘;n
103, 105
(disregard graph question), 107,
111,
115ab (disregard graph question)



103. a. 37.3 milion
b 2017

105. 113 feet
107. 82 years
Il 87 years

|[1Da. 77
b. 2010






